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EoFANFE NS EE - EmE R RR £ E (annual
discounted cash flow) » £ 2+ & ;2 L& (Net Present Value, NPV ) -
A (1=0.10) B (i=0.10)
sum of sum of
annual dlggglhjr?tled annual annual d|gggtljj|$tled annual
Year cash cash discounted cash cash discounted
flow flow cash flow flow cash
flow flow
0 -100 -100 -100 -100 -100 -100
1 30 25
2 30 25
3 30 ? ? 25 ? ?
4 30 25
5 30 25
6 25
7 25
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Stream  Supply Temp. Target Temp. Flow Rate Heat Capacity
Ts(C) T:(C) F (kg/h) Cpr (kWh/kg-C)
Hot 210 90 20,000 0.001
Cold 60 160 15,000 0.002

(Ot B A R 2 Ao # f o 4 £ f = (load of hot utility or cold utility,
KW) A5 %@ 92 (10 4)
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a

~ ¥ (benzene) ¥ d ¥ (toluene) 4r & (hydrogen) ~ B#l = » ¢ ¥

BV F AL B AP BT (diphenyl)> A B A& F RN 40T 9w

CH.CH, + H, — CH, + CH,
toluene hydrogen benzene methane

2CH, & C,H, + H,
benzene diphenyl hydrogen
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Ao ErEEEE F 7 77 10%0T (methane)-
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219 Feul 5] (mole ratio)
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g | gaad | ez | jaad | e | jwnd
AapiEas | (Kmolh) | A at=ss | (Kmolh) | 2 a4+ | (Kmolh)
A/BCD 140 A/BC 110 A/B 80
AB/CD 180 ABIC 140 B/C 120
ABC/D 260 B/CD 160 C/D 200
BC/D 240




